9. cviceni - vysledky
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Priklad 2.
(a) llog "1: + ]'| + 21Og |$ + 2| -3 log |$ + 3” LS (—OO, _3)3 (_33 _2)7 (_27 _1)7 (_1700)

(b) %loglz — 1| — & log(a? +x+1)+\/§arctan2f/§1, x € (—o0,1),(1,00)

(c) z+ ¢log|z| — Jlog |z — 2|+ Rlog |z — 3|, =€ (—00,0),(0,2),(2,3),(3,00)
(d) z+ farctanz — Sarctan %, z€R
(e) %H+%log‘x2—1‘, x € (—o0,—1),(—=1,1),(1,0)
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arctan 2“;”/%1, x € (—o0,—1),(—1,0), (0, 00)
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(g) _3525_:03;6_” (S (_007 1), (17 2)7 (27 OO)

(h) floglz+ 1| — $log(a? —x +1) + \/garctan \/gl, x € (—o0,—1),(—1,00)

Priiklad 3.

(a) — <2(1+x2) + 5 arctanx) r€eR
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(b) §1+§+m2+3farctan Cf/§’ z€eR

(c) arctan(z +1) + zeR
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(d) %arctan:p + %zgﬂl + %(mgfrl)% reR
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(e) §x2_ﬁg+1 + 3\f arctan f/% + 5 log x(zﬁxil, x € (—00,1),(1,00)
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(f) 12\/§zau"ctan 5 +12farctan 7 +3log oy — 7ty TER
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(g) glog cc(z—x—)i-l + g5 arctan =5 + 37
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(h) —%W‘ﬁ% — s5arctan(z® +1), z€R

Priklad 4.

(a) logz +log (log®z —logz + 1) + \/garctanmL\/;fl, x € (0,00)

(b) potfeba prepocitat

(c) Lloglz + 3| — &5 log(2? + 22 + 3) — £v/2arctan ‘”\}1, x € (—o0,—3), (-3, 00)

(d) log |z + 1| + 17 mQﬁ-zi-S + A\/ﬁarctan 2\:;%1, x € (—o0,—1),(—1,00)

(e) %Q—x+%log|:n—|—1] 2log(z® + x4+ 3) + \ﬁarctan \/ILll, x € (—o0,—1),(—1,00)
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